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Find the geometric mean between each pair of numbers. ‘:h_‘_g‘?' oo T9) S G (gwaiigd) Jawed) ao

20 and 25 25 and 16 81 and 4

JSEY) B Al A L)) pud gl (LG 8 ke oS!
Write a similarity statement identifying the three similar triangles in the figure.
M X 5 Q

- 244X S

Find x, y, and z. E
z V4
y ¥ z 17 y Yy
% 6
6
9 4 X f
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MODELING Khadija is hanging silver stars from

the gym ceiling using string for graduation. She
wants the ends of the strings where the stars will
be attached to be 2.2 meters from the floor. Use the
diagram to determine how long she should make
the strings.

P denb Liged deas ks g&I:ng plasiu

calyly Jlazs A (3)aasi) dsls ) lad¥) Al cany
22 M gl paaad) gy dogssed) dosesl] ST 5% )
Jodad! slane ayasa) addasad) g J) pasal) (o, 3) (e
I EPE ] U iaj)Ul

ALGEBRA Find the value of the variable.

m+5

seiied) Aad S o]

w+4

24 6
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Lesson 7—5 | The Pythagorean Theorem and Its Conversc # "‘")p d)' ﬁ?d’jg »)

PV {
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.32+b2=02g13.cg.aa,;

ABLE) Goedad ol ol ¥ p gguie]

3,4,5

5, 12, 13 8 15, 17 7,24, 25

6, 8, 10
9,12, 15

3x, 4x, 5x

10, 24, 26 16, 30, 34 14, 48, 50
15, 36, 39 24, 45, 51 21 72, 75

5x, 12x, 13x 8x, 15x, 17x 7x, 24x, 25x
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Find x. X S
12
L] 15 X
2
9
X 16
= 5

PERSEVERANCE Use a Pythagorean Triple to find x. .X g Alowd s lcd 2536 T 8 iy
16 X

48| \¥ 72
78

BASKETBALL The support for a basketball net LS aasls angly JSiu alad) 5,5 o0 peds il o5od) dluad! &S

forms a right triangle as ShOW'l’l. What is the S at] mpadl Bl s a0 CBiadl o X sl Lab peope gm
length x of the horizontal portion of the support? g
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Determine whether each set of numbers can be the measures of the sides of a triangle.

If so, classify the triangle as acute, obtuse, or right. Justify your answer.

15, 36,39 16, 18, 26

15, 20, 24 19712, 23

T alasod) ugs Al dewidls doslil) goiie pl @il3 o sl Cilio ga AXYZ GUS 15) Lo sa> dblas¥| dwaigd)
COORDINATE GEOMETRY Determine whether AXYZ is an acute, right, or obtuse triangle for the given vertices. Explain.

X(~3, <=2), -1, 0), Z(0, —1)
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(8153 Lesson 7-3 Special Right Triangles

Aol alall olatit! 7-3 salall Caall Joc 4y,

90° 5 60° 5 30° Ligj: cUliall pailuad aladiv) 2 90° 5 45° 5 45° Ly cliliall (ailad aladiu) ] EENERIFEP

90°, 45° 45° Lyiluld Llgi culiliol) iy, das 8 & il

N7 157 riallaza € gLl (555 90% 45% 45° Lpluld Llgs culia
el as) Jobs ciain /2 ol N 35)) Jslas
h=0V2 5 L= 04s% 90°% 45% 45° LiLulh Llgjy i) 5 jaa

90°9 60°5 30° Lyilwld Lilgss colilied) ay das 9 4 Jas

h 58)) Jsbs 90°% 60°5 30° LiLuld Llys Eulis o
60° 2% € Jobo¥) gl Jolog .S :_njg; Alall oo aesn ol
O T, T R A O

A C 90% 60% 30° LiLuld Llss; clia 3 jea )l
.£=5‘\/§3h=2501‘3

SENSE-MAKING Find x. X iy gutaligd ) et |

16 17V2. 183
45° 45° L [

o

45

alall Jods & =89 Jalas 5o as 90°% 45% 45° Llgss culie olS 13l

[F a 45°-45°-90° triangle has a hypotenuse length of 9, find the leg length.
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Find x and y. Yo X dad s
y y X
| |
3 8V3 12 % ™
1f
60° XNy 10V3 X
X

da) el asl Jabs sas 1B M acks,) Jabs gda¥l goluie Culin

An equilateral triangle has an altitude length of 18 meters. Determine the length of a side of the triangle.

MODELING gil.q.’dl 'nl.u'n.‘i.m!
Sach Eighiight.e(;'is e;.;;q;ilalt?r;ll_trliatnglfr;ztwitl'l &}Lab &m‘m oluts ults e 8ylic ga Jullss ol3 S
-centimeter sides. Wi e highlighter fitin a fllsz]) Pl-c‘ b aliaze e e 9cm Ladads ale
10-centimeter by 7-centimeter rectangular box? e~ 7 em u-q 10 cm “L’j e u-g

Find x and y. Yy Xied o

2V/3
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‘#1lesson 7-4 | Trigonometry

&L’L‘.ﬂ‘gl.u.‘)- 7-4 )..fLLn.“ ga.z,a.”d.a.caﬁﬂ

Auglyd Aasls lilie 3L g5 Ssluoled sl AGEN Cowill aluial 2 Auglill Aails Silikia al eiuly AL Cowill slomsf -1

Sine e

caugl)) @l cliy e el Jlgba) Ziws oo dllied) G

Cosine  alaill cua

: Jikaa
Tangent Jh Sine § = ——
Bs
30° . Jslaa
5 Cosine 0 =—
ik
) Tangent 0 = —
1 60 ] Jgaa

da (ra £ a._.a_,i“l qﬁgk;,.ﬁ.;‘,..d,i,..d._. dusisd JS e e .tan Ly cos Ly sin Ly tan Jg cos Jy sin J oo

Find sin |, cos [, tan ], sin L, cos L, and tan L. Express each ratio as a fraction and as a decimal to the nearest hundredth.

L
30 L
8 = 56 K
K 5
16 4 T 43
) K 2V/15

10
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Use a special right triangle to express each trigonometric ratio as a fraction and as a decimal to the nearest hundredth.

tan 60° cos 30° sin 45°
sin 30° tan 45° cos 60°
Find x. Round to the nearest tenth. e o ejor ) () Q3D X A
J
T _15V3
33 63° Z X Y
A 34°
X K<
1 X 28
21° x
C B
X
£ S

GYMNASTICS The springboard that Walid uses in e wwsaill i B ady geasan ) C3gd) dans Hlusand!
his gymnastics class has 6-centimeter coils and forms Lagdass dugly JSday 6 CM Lade ilely sransd 3luss)
an angle of 14.5° with the base. About how long S dg) diaie Job ylane L3 .auclall 2o 14.5°
is the springboard?

11
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TOOLS Use a calculator to find the measure of 2T to the nearest tenth.

S 8 R R 55 i R
T 23
R 5| %°
12
1 30 10V3
S
T L T

e ys Bl I Ll By b b (e sier BT ) BT Ll 3B gl OB alle US s
Solve each right triangle. Round side measures to the nearest tenth and angle measures to the nearest degree.

H X K

9% Z 22

. 8
1
F

BACKPACKS Sultan has a rolling backpack that
is 4 feet tall when the handle is extended.
When he is pulling the backpack, Sultan’s hand
is 3 feet from the ground from the ground.
What angle does his backpack make with the
floor? Round to the nearest degree.

4 ft Ledods il Moe b3 gbs dnas plale o) gdadl Colas
|- . 0% plale s ole pladl fme Coew i iiasd) s wmas e
S0, o dia Lghass ) dgli)l Lo oo, e 3 T Jlane e e

' i PN | [ | R

sl

12
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(i) Tadll (3 8 Caaa olad () Al Ay ) (la) Tad g 8 Jad (g (S5 31 Ay gl 0 o B Y A )

(B Tadl (e ol Caan ol () yall Ay y dad g G ek e O sSE A ) ) b AR Aug) ]
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HOCKEY A hockey player takes a shot 6 meters away from a 1.5-meter goal. If the puck — i

travels at a 15" angle of elevation toward the center of the goal, will the player score?

glsy) Gle cumy aalicd) 515 15) Lead) e 155 M ass (o salid) Lal s oo aod plas)) &sl5 as Jlesnd!
350 M g Jood! gliyl ol Lile ya,%) 50 15 m
MOUNTAINS Find the angle of elevalion Lo the peak of a mountain for an observer who is
155 meters from the mountain if the observer’s eye is 1.5 meters above the ground and the
mountain is 350 meters tall.

Bl ) jasce ad (e 0s,Y) seiws Gle 50 M Lgpasy e glasy glisle alo53 ases ddled! !
6553 35l jasas glany) of Gl 15) 15% alusa) dsely Lalash (8% alsja)) jasus a3 a5 audacus Ll
M a8 I3 Soa,¥) pdan e yas clelss)l Ld s s¥) ala e 15 M s>
WATERPARK Two water slides are 50 meters apart on level ground. From the top of the
taller slide, you can see the top of the shorter slide at an angle of depression of 15°. If
you know that the top of the other slide is approximately 15 meters above the ground,
about how far above the ground are you? Round to the nearest tenth of a meter.

I 50m ! i3
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AVIATION Due to a storm, a pilot flying at an altitude of 528 meters has to land. If he hasa
horizontal distance of 2000 meters to land, at what angle of depression should he land?

PYRAMIDS Ahmed and Ali are visiting the
Great Pyramid in Egypt. From where Ahmed

is standing, the angle of elevation to the top

of the pyramid is 48.6". From Ali’s position,

the angle of elevation is 50°. If they are standing

ran S0 S gl ey 2ol oo JS STEY ol s ¥
48.6° o) aend gl )¥) &gl; alo RFOUR, L T I
ole olany B8 1500 50° plis,¥) i)y ils (,le GlSa cros

6 meters apart, and they are each 1.7 meters tall, “-‘1%19” glas,) Lod
how tall is the pyramid?

¢|J5JJ 15 m djL..u.q.} ,Jg'k"! e _1_1...| 6"\“ 30 _,,a-}Ug 40 u.a m';!_x_.ai _\_-....'x' l_,al.n;..l'}” 4-‘5‘) a_..||5 |A|J b_..ng.a Y]

) | L )
DIVING Ahmed is standing on the high dive at the local pool. Two of his friends are in the P e el

water as shown. If the angle of depression to one of his friends is 40°, and 30° to his other
friend who is 1.5 meters beyond the first, how tall is the platform?
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